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68 78 8A 98 10AR 1A 12R 1A 2R 38 4R 58 68
X 4 R54E R64E
7 68 78 8H 98 108 1A 128 18 2R 3A 48 58 6H
3HBRTE DL 5.7 7.9 115 5.7 9.9 0.7 -07 -115 -88  -124 9.4 14 -29
BEDEERY -6.4 -29 -72 -43 -43 -13 -72 -116 -8.1 -3.7 -36 -86  -10.2
3HPBEDREL 14 10.1 8.6 2.9 -43 -6.5 -65 5.0 0.7 37 0.7 3.6 -36
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68 78 88 9R 108 118 128 18 28 3R 48 5H 68
X 4 RS54 R64F
7 68 78 8A 98 108 18 128 18 28 3A 48 58 68
3hBETE DL -2.6 -26 -9.1 39 9.0 1.7 39  -103 -26 -17.9 5.1 -6.4 -52
BEDEEEY -130 -79  -143 -6.6 -52 -53 -53  -11.7 -9.2 -26 -6.5 -9.1 -53
3HBEDOREL 00 17 18.2 78 -5.1 -78  -132 -38 -18 5.1 5.1 1.3 5.2
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68 78 8A 98 108 1A 128 18 28 3A 48 54 64
X 4 RS54 R64F
7 68 78 8A 98 108 18 128 18 28 3A 48 58 68
37 ARTE DB 125 375 125 -125  -125 125 00 -250 125 125  -125 00 -125
BEDEEEY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 125 0.0
3HAXDRAEL 125 125 125  -125 125 125 0.0 0.0 00 -125 25.0 375 25.0
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R5% R64F
68 18 8A 98 108 18 128 18 28 38 48 58 6A
= N R54F R64E
7 6H 7R 8H 9A 10A 1A 12H 1A 2A 3A 48 58 68
3N ARTE DB 14.3 375 250 -95 -48  -105 -95 -95 -211  -105 -50 -190 -300
RENEERY 0.0 0.0 -50 -190 -190  -21.1 -48 -95 0.0 53  -100 -95 =200
3HA%XDRBL -95 125 0.0 -48 -95 -158 0.0 48 -105 -105 -250 -95  -400
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6A 18 8A 9A 10A 1A 128 1A 2R 3A 48 5A 6A
B % Ro% R6%E
6A 7R 8H 9A 10A 1A 128 1A 2R 3A 48 5A 6A
3H AR EDHE 17.6 235 50.0 235 265  -20.6 -59 -125  -212 -6.3 34.4 212 212
RENELREY 29 59 59 838 59 -59 -147  -156  -121  -129 63 -121  -182
3HAXDREL 8.8 14.7 -8.8 0.0 -2.9 -2.9 2.9 28.1 273 13.3 0.0 9.1 -9.1
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